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Questions

In learning by trial & error, an individual carries on his work unless:

In learning by trial & error, an individual:

The direct experience:

Which of the following is not necessary for the process of learning:

Learning is a:

The response of an individual emerging from an experience:

The changes due to learning:

Which of the following is included in the concept of learning:

The behavioral changes due to experiences:

The natural changes are:

The changes due to experiences:

The change in an individual occurs when he:

At birth, a child is unable:

Answers Choice

A. He finds an appropriate solution
B. He commits a mistakes

C. He comes across some negative
response

D. Both Aand B

A. Has not already available solution
to his problems

B. Does not use his intellect

C. Does not commit mistakes

D. Does not retry after failure

A. Is the personal experience of an
individual

B. Is not concerned with the
environmental stimulus

C. Has no effect on the individual
D. Is concerned with the social laws

A. Sex discrimination

B. Physical development
C. Cognitive development
D. Experiences

A. Continuous process

B. Process which brings about
changes

C. Process which brings about
behavior modification

D. All of the above

A. Enables him to pass through
further experience

B. Becomes neutral

C. Becomes negative

D. Becomes imbalanced

A. Do not leave any effect on
individual's behavior

B. Are not concerned with
environment

C. Enable an individual to perform his
role

D. Are concerned with heredity

. Process

. Process and change

Process, change and experience
. All of the above

Are sometimes temprary
Are sometimes permanent
Are always natural

Both Aand B
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Temporary
Permanent

Neutral

None of the above

Are permanent

Continue throughout life

Pave the way to new changes
. All of the above

. Intends to change

. Passes through an experience
C. Passes through the learning
process

D. Both Aand B

wWr O0wW» UowP

A. Fulfil his needs by himself
B. Respond

C. Take influences from the
environment
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A child proceeds from infancy to:

The process of change:

D. Both Aand B

B. Neo-adolescence
C. Adolescence
D. Maturation

A. Enables in individual to lead
successful life

B. Enables in individual to adjust in
the society

C. Enables in individual to develop
his abilities



